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3.5 Optimal Household Choices With Uncertainty
In this case the lagrangean is with the expectation term:
L= Eo{2528° BE{u(C,1 = L) + A1 [(Be + wely — C(A + 144) — Bt+1]}}- (49)

The Firs Order Condition are given by:

02
a_th = BtEt[ul,t -1+ rt+1)lt+1] =0 (50)
02
aLL = ,BtEt[_uz ¢ +we(1+ rt+1)lt+1] =0 (51)
5 = B EAdey1(A+1040) = B =12 e] =0 (52)

which can be rewritten as:
U = Ef[(1 4 1) Ae44]. (53)
At = BE (L + 1p41)A¢41]- \
Uy, = weE [(1+ rt+1)/1t+1] tesa' (55)

We can derive the lntertemp onditions 6ﬁe %m&vay as before. Consider, for
example, the Eulere nsumptlon /L

1 XQ}’ [+ mﬂP@g (56)

Using again the logarithmic utility function we have:
1 1
&= BE | +m) 2] (57)

From this point onwards things are different with respect to the certainty case, because we have
that:

Eq [(1 + Tep1) Ct1+ ] E:(1+1r41)E; ( ) + cov (1 + Tt+1:%+1)- (58)

Using equation (58) in equation (57):

E (i) _ 1—Ctﬁcov<1+rt+1,ﬁ). (59)

Ct+1 BE:(1+7¢41)

If cov (1+ rtﬂ,L = 0 then we have the same result as in the certainty case:
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